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uhiRiaaTa A g AlGae 36

1 = Th THE (hael TH)

2(1+1) =38

3 = Yl ik

3", (7 1 3THT) = STHY (42 HEH; 1,260 T&F; 0ok 9931 3R
G, 3R ST WA’ = qhe w1 3", I o wHe, sfae &
3T <d gU)

4 = gfs 1 3i% (Sfvaeh 3id, 77 W)

5 (10 =1 3THT) = Hifed W

6 (7-1) = 3190l (3, B, STHH)

7 (3 + 4) = qotan (dfers Hegoid)

10 = AT Fegofar (aRquidr =1 |mef)

12 (3 x 4) = Hiftfer FEqUI

24 (2 x 12) = HIfHe FFYOTAT 1 S T

40 (4 x 10) = AT W TR FAUi1

42 (38 3'%)

144 (12 x 12) = wfHfer Fegofar =t gegoidn

666 (W 6) = TYUII, TF, DA AR STAHE T T

1,000 (10 x 10 x 10) = FYUAT ! HFIUIT hl TR

1,260 (3H 3'%)

1,600 (4 x 4 x 10 x 10) = AT TR TR guidl

7,000 (7 x 1,000) = FYUidT <Rl ST

12,000 (12 x 1,000) = HFIUIAT I ST

1,44,000 (144 x 1,000) = FEIUil T T

20,00,00,000 (2 x &g 10) = 37517 GHed

1,00,00,00,000 iR 31ferk = 3TE@A, WHAT THE ¥ T
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